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Complete the table

Use <, = or = to complete the statements.
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Here is a pattern on a grid.

Write these in order of size, starting with
the smallest.
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What perceutage of the grid is shaded? smallest
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In a Maths test, Tom answered 62% of
the questions correctly.

Lily answered % of the questions ,3_ . 60 _ é‘o}

correctly.
. ‘/
Who answered more questions correctly? | gy

Explain your answer.
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Four friends share a pizza.

Whitney eats 35% of the pizza,
Teddy eats 0.4 of the pizza,
Dora eats 12% of the pizza and
Alex eats 0.125 of the pizza.

Write the amount each child eats as a fraction.
Who eats the most? I,%

Who eats the least? de

Is there any left?
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What fraction, decimal and percentage of each grid is shaded blue?

1
JUD

fraction =

decimal=| () - O |

percentage = | | /ﬂ

fraction = ,IQ—

JuD
decimal =| ()« ]O

percentage =

fraction = |-

decimal =

percentage =

Complete the table.

_ Decimal




